
Jaba	
  Alignment	
  Exercise	
  
•  Task	
  

–  Run	
  the	
  alignment	
  from	
  step	
  b	
  of	
  ex.	
  25	
  using	
  the	
  JABA	
  clustalW	
  
service	
  
1.  Run	
  with	
  default	
  seCngs	
  
2.  Use	
  the	
  ‘Edit	
  parameters’	
  dialog	
  to	
  run	
  an	
  alignment	
  with	
  the	
  

following:	
  
•  Gap	
  opening	
  (internal	
  and	
  end	
  gaps)	
  =	
  3	
  
•  Gap	
  Extension	
  =	
  0.05	
  

–  Compare	
  the	
  two	
  alignments.	
  You	
  may	
  want	
  to	
  save	
  them	
  for	
  later,	
  
too.	
  

•  QuesRons	
  
–  What	
  effect	
  has	
  modifying	
  the	
  gap	
  penalRes	
  had	
  on	
  the	
  feredoxin	
  

alignment	
  ?	
  


